· Law of Increasing Relative Cost

· This law looks at the Relationship between 2 outputs

· When a society, in order to get greater amounts of one product is willing to sacrifice an ever increasing amount of the other product. 

· The Economic cost of 1 output relative to a 2nd output is given in terms of quantity of that 2nd output.  Ex. The cost of 1 plough is 1000 loaves of bread. 

	Plough
	Bread

	0
	15000

	1
	14000

	2
	12000

	3
	9000

	4
	5000

	5
	0


· This relationship will create a Concave Curvature of the Production Possibilities because although for example plough production changes by a constant rate each time the quantity of bread changes by an increasingly larger amount each time.

· Therefore the slope becomes steeper as a result of this ever increasing vertical change
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